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Note :– This paper is of Seventy (70) marks divided into

Two (02) Sections ‘A’ and ‘B’. Attempt the

questions contained in these Sections according to

the detailed instructions given therein. Candidates

should limit their answers to the questions on the

given answer sheet. No additional (B) answer

sheet will be issued.

uksV :µ ;g iz'u&i= lÙkj (70) vadksa dk gS] tks nks (02) [k.Mksa

^d* rFkk ^[k* esa foHkkftr gSA izR;sd [k.M esa fn, x,

foLr̀r funsZ'kksa ds vuqlkj gh iz'uksa dks gy djuk gSA ijh{kkFkhZ

vius iz'uksa ds mÙkj nh xbZ mÙkj&iqfLrdk rd gh lhfer

j[ksaA dksbZ vfrfjDr (ch) mÙkj&iqfLrdk tkjh ugha dh

tk;sxhA
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Section–A

([k.M–d)

Long Answer Type Questions

(nh?kZ mÙkjh; iz'u) 2×19=38

Note :– Section ‘A’ contains Five (05) Long-answer

type questions of Nineteen (19) marks each.

Learners are required to answer any two (02)

questions only.

uksV :µ [k.M ^d* esa ik¡p (05) nh?kZ mÙkjh; iz'u fn;s x;s gSa] izR;sd

iz'u ds fy, mUuhl (19) vad fu/kkZfjr gSaA f'k{kk£Fk;ksa dks

buesa ls dsoy nks (02) iz'uksa ds mÙkj nsus gSaA

1. Define agricultural economics. Describe in brief its

nature and scope.

Ïf"k vFkZ'kkL= dks ifjHkkf"kr dhft,A bldh izÏfr ,oa dk;Z&{ks=

dk la{ksi esa mYys[k dhft,A

2. Critically explain the Boserup agricultural development

model.

ckslji ds Ïf"k fodkl ekWMy dh vkykspukred O;k[;k dhft,A

3. Describe the different steps of returns to scale.

iSekus ds izfrQy dh fofHkék voLFkkvksa dk o.kZu dhft,A
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4. Explain iso- product curve and marginal rate of technical

substitution.

leksRikn oØ vkSj lhekUr rduhdh izfrLFkkiu nj dh O;k[;k

dhft,A

5. Explain various biological techniques in agriculture.

Ïf"k esa fofHkék tSfod rduhdksa dh O;k[;k dhft,A

Section–B

([k.M–[k)

Short Answer Type Questions

(y?kq mÙkjh; iz'u) 4×8=32

Note :– Section ‘B’ contains Eight (08) Short-answer type

questions of Eight (08) marks each. Learners are

required to answer any four (04) questions only.

uksV :µ [k.M ^[k* esa vkB (08) y?kq mÙkjh; iz'u fn;s x;s gSa]

izR;sd iz'u ds fy, vkB (08) vad fu/kkZfjr gSaA f'k{kk£Fk;ksa

dks buesa ls dsoy pkj (04) iz'uksa ds mÙkj nsus gSaA

1. Explain the benefits of agricultural mechanization in

India.

Hkkjr esa Ïf"k;a=hdj.k ds ykHkksa dh O;k[;k dhft,A

2. Describe the main objectives of land reforms.

Hkwfe lq/kkj ds izeq[k mís'; crkb,A
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3. How con low productivity in agriculture be increased ?

Ïf"k esa fuEu mRikndrk dks dSls c<+k;k tk ldrk gS \

4. Explain the interrelationship between agriculture and

industry.

Ïf"k rFkk m|ksx ds chp varj lEcU/k dh O;k[;k dhft,A

5. What is production possibilities curve ?

mRiknu laHkkouk oØ ls vki D;k le>rs gSa \

6. Define two-sector economy.

}h&{ks= vFkZO;oLFkk dks ifjHkkf"kr dhft,A

7. Discuss the advantages and disadvantages of Green

Revolution in India.

Hkkjr esa gfjr Økafr ds ykHk ,oa gkfu;ksa dh foospuk dhft,A

8. Explain the concept of traditional farming.

ikjaifjd [ksrh dh vo/kkj.kk dks le>kb,A

**************


